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MATHS

BOOKS - RS AGGARWAL MATHS (HINGLISH)

OPERATIONS ON ALGEBRAIC EXPRESSIONS

1.Add: 6a + 8b - 5¢,2b + c-4a and a-3b - 2c.

o Watch Video Solution

2.Add: 522 + 3z — 8,4z + 7 — 22% and 6 — 5z + 4>

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fYUeeVIhy01C
https://dl.doubtnut.com/l/_v8VZu76S3hIx

3.Add: 8z — 5zy — 3y?, 2zy — 6y + 322 and y? + zy — 622

o Watch Video Solution

4.Subtract 4a+ 5b-3cfrom6a-3b+c

o Watch Video Solution

5.Subtract 322 — 6z — 4from 5 + = — 22

o Watch Video Solution

6.4 xy

o Watch Video Solution



https://dl.doubtnut.com/l/_v8VZu76S3hIx
https://dl.doubtnut.com/l/_S9SUqMRQdqB7
https://dl.doubtnut.com/l/_OpCCrh2GYh36
https://dl.doubtnut.com/l/_jI4zSh97H5C6
https://dl.doubtnut.com/l/_CJVTTmCOgoHz

7.Find each of the following products:
(i) 5a’b* x (3a® — 4ab + 6b%) (ii)

( — 3x2y) X (4zc2y — 3zy® + 4o — 5y)

° Watch Video Solution

8. Multiply (3x + 5y) and (5x - 7y).

o Watch Video Solution

9. Multiply (3:1:2 + y2) by (25152 + 3y2)

° Watch Video Solution



https://dl.doubtnut.com/l/_CJVTTmCOgoHz
https://dl.doubtnut.com/l/_WIQ6qpf3m8D4
https://dl.doubtnut.com/l/_Ea5BYgVTSvSW
https://dl.doubtnut.com/l/_MSufcAxSPt09

10. Multiply (5z* — 6z + 9) by (2x - 3)

° Watch Video Solution

11. Multiply (23:2 — 9T + 4) by (:132 + T — 8)

° Watch Video Solution

12. Multiply (2:33 —b5x? —x + 7) by (3 — 2z + 4x2)

° Watch Video Solution

13. Divide:

(i) 8:1:2y2 by - 2xy (ii) — 15m3yz3 by — 5:1:yz2

° Watch Video Solution



https://dl.doubtnut.com/l/_s6F9q0JcXN3a
https://dl.doubtnut.com/l/_70cUH7wIWDrs
https://dl.doubtnut.com/l/_rz4aNCr9EQv1
https://dl.doubtnut.com/l/_04g81ddCnYwF

14. Divide:

(i) 6z + 18z — 322 by 3z (i) 20z3y + 1222y — 10zy by 2xy

o Watch Video Solution

15. Divide 222 + 3z + 1 by (x + 1)

° Watch Video Solution

16. Divide 9z — 622 + 2° — 2 by (x-2)

o Watch Video Solution

17.Divide (29z — 62° — 28) by (3x - 4)


https://dl.doubtnut.com/l/_04g81ddCnYwF
https://dl.doubtnut.com/l/_rbOyrlmKb55K
https://dl.doubtnut.com/l/_4jd1bVXOOsxI
https://dl.doubtnut.com/l/_Qqrm5pkrN1bK
https://dl.doubtnut.com/l/_xOeUCbUStu4q

° Watch Video Solution

18. (52° — 4z® + 3z + 18)by(3 — 2z + =7)

o Watch Video Solution

19. Using division, show that (x - 1) is a factor of (:133 — 1)

o Watch Video Solution

20. Find the  quotient  and remainder  when

(7 + 15z — 132” + 52°) is divided by (4 — 3z + z?)

o Watch Video Solution



https://dl.doubtnut.com/l/_xOeUCbUStu4q
https://dl.doubtnut.com/l/_qKZUM9XZVwN6
https://dl.doubtnut.com/l/_sLSK2TA0dKRk
https://dl.doubtnut.com/l/_eXhbX6EBwqcc

21.Divide (10z* + 17z* — 622 + 30z — 3) by (22° + 7z — 1)

° Watch Video Solution

22.Find each of the following products:

(i) (3x + 2y) (3x + 2y) (ii) (4a® + 5) (42® + 5)

° Watch Video Solution

. 2 (2 3\
23. Expand : (i) (2z + 5y)~ (ii) ga + Zb

° Watch Video Solution

24.Find each of the following products:

(i) (4x - 7y) (4x - 7y) (i) (32 — 4y°) (32® — 4y?)


https://dl.doubtnut.com/l/_tz9A0GOxjUzO
https://dl.doubtnut.com/l/_zzXduabimxqr
https://dl.doubtnut.com/l/_mG1bSVDTLdO8
https://dl.doubtnut.com/l/_ExC7DvyUpCBw

o Watch Video Solution

2
25. Expand (i) (3z — 2y)* (ii) (%p — Eq)

° Watch Video Solution

26. Find each of the following products:

(i) (4x + 5y) (4x - 5y) (i) (32> + 2y°) (3z* — 2¢°)

° Watch Video Solution

27. Evaluate the following using identities:

(i) (105)° (ii) (47) (iii) (8.3 x 7.7)

° Watch Video Solution



https://dl.doubtnut.com/l/_ExC7DvyUpCBw
https://dl.doubtnut.com/l/_vcRiJf4M3F1w
https://dl.doubtnut.com/l/_lJVNOwJ8K8ju
https://dl.doubtnut.com/l/_lf6SuQvX7Mng

28. Find the value of the expression 2522 + 9y + 30zy. When x

=8andy=10.

° Watch Video Solution

29. Find the value of the expression (81:(:2 + 16y% — 72zcy)

h _ 2 d—3
whenz = —andy = -

° Watch Video Solution

1 1 1
30.1fz + — = 5 find the values of (i) 2 + — and (i) z* + —
x x2 4

° Watch Video Solution



https://dl.doubtnut.com/l/_dNFI0IRx2rjD
https://dl.doubtnut.com/l/_htxIXtLQiXjq
https://dl.doubtnut.com/l/_DA2TePTC0J6C
https://dl.doubtnut.com/l/_1tj2lV4Hr5jF

1. Add:

8ab, — 5ab, 3ab, — ab

o Watch Video Solution

2. Add:

7r, —3x,5c, — ¢, — 2x

o Watch Video Solution

3. Add:

3a — 4b+ 4c,2a + 3b — 8¢c,a — 6b+ ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_1tj2lV4Hr5jF
https://dl.doubtnut.com/l/_SxQQdo3I7bix
https://dl.doubtnut.com/l/_DaLmOAzSl12K

4. Add:

S5r — 8y + 22,3z — 4y — 22,6y — z — ¢ and 3z — 2z — 3y

° Watch Video Solution

5.Add:

6axr — 2by + 3cz, 6by — 1lax — cz and 1 — cz — 2ax — 3by

° Watch Video Solution

6. Add: 2z° — 92>+ 8,3z — 6z —5,72> — 10z +1 and

3+ 2z — 5z? — 423

° Watch Video Solution



https://dl.doubtnut.com/l/_u77f2sar5j7A
https://dl.doubtnut.com/l/_4qAqXReS3lTc
https://dl.doubtnut.com/l/_3mdDUbngLNhN

7. Add:

6p+4q—r+3,3r —5p—6,11g— Tp+2r — 1 and 2q — 3r + 4

o Watch Video Solution

8. Add:
4% — Tey + 4° — 3,5 + 6y> — 8zy + =2 and

6 — 2zy + 2z° — 5y’

o Watch Video Solution

9. Subtract :

3a’b from — 5a’b

o Watch Video Solution



https://dl.doubtnut.com/l/_eNwf6MmLkav1
https://dl.doubtnut.com/l/_ULoRFeC6o8FU
https://dl.doubtnut.com/l/_Uo74ju3lV7Cc
https://dl.doubtnut.com/l/_vvFGOXvbdYXK

10. Subtract :

—8pq from 6pq

o Watch Video Solution

11. Subtract :

—2abc from — 8abe

o Watch Video Solution

12. Subtract :

16p from — 11p

o Watch Video Solution



https://dl.doubtnut.com/l/_vvFGOXvbdYXK
https://dl.doubtnut.com/l/_3Eit2bdORYcH
https://dl.doubtnut.com/l/_oRSJdNyhlCz8

13. Subtract :

2a —5b+2¢c—9 from 3a —4b—c+ 6

o Watch Video Solution

14. Subtract :

—6p+q+3r+8 from p— 29— 5r —8

° Watch Video Solution

15.Subtract : z° + 322 — 5z + 4 from 3z° — 22 + 2z — 4

° Watch Video Solution



https://dl.doubtnut.com/l/_OUZbAPAqSYSS
https://dl.doubtnut.com/l/_8dcoIULkJwKk
https://dl.doubtnut.com/l/_TLmPrukZR6MI

16. Subtract :

5yt — 3y® + 22 +y — 1fromdy* —2y° — 6y —y +5

° Watch Video Solution

17. Subtract :

4p® + 5¢° — 6r2 + 7 from 3p> — 4¢> — 51> — 6

° Watch Video Solution

18. what must be subtracted from 3a? — 6ab — 3b*> — 1 to get

4a® — Tab — 4b> + 12

° Watch Video Solution



https://dl.doubtnut.com/l/_f4seFBmlfTkd
https://dl.doubtnut.com/l/_TU2G3PY8xQBE
https://dl.doubtnut.com/l/_fQZ3kl0HZ6vh

19. The two adjacent sides of rectangle are 5x® — 3y and

z? + 2zy. Find the perimeter

o Watch Video Solution

20. The perimeter of a triangle is 6p> — 4p + 9 and two of its
sides are p> — 2p + 1 and 3p®> — 5p + 3. Find the third side of

the triangle.

° Watch Video Solution

1. Find each of the following products :

(bx + 7) x (3x + 4)



https://dl.doubtnut.com/l/_MXwTG7DeyKkc
https://dl.doubtnut.com/l/_CFBoZVAo38ZY
https://dl.doubtnut.com/l/_qWxJ0eK4yuVr

| 0 Watch Video Solution

2. Find each of the following products :

(4 +9) x (= — 6)

o Watch Video Solution

3. Find each of the following products :

(2 + 5) x (4= — 3)

° Watch Video Solution

4.Find each of the following products :

(3y —8) x (5y — 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_qWxJ0eK4yuVr
https://dl.doubtnut.com/l/_YpGfWUf0k5lb
https://dl.doubtnut.com/l/_ydOrqVcbmbJE
https://dl.doubtnut.com/l/_uO5z8zUDRVgX

5. Find each of the following products :

(Tz + 2y) X (z + 4y)

° Watch Video Solution

6. Find each of the following products :

(9z + 5y) x (4= + 3y)

° Watch Video Solution

7.Find each of the following products :

(3m — 4n) x (2m — 3n)

° Watch Video Solution



https://dl.doubtnut.com/l/_uO5z8zUDRVgX
https://dl.doubtnut.com/l/_JPtT0vl9Lja3
https://dl.doubtnut.com/l/_gJUiaZs1EMpd
https://dl.doubtnut.com/l/_Kz5bUqC4lKYy
https://dl.doubtnut.com/l/_3xjstdxuDNE8

8. Find each of the following products :

(2 — a®) x (z — a)

° Watch Video Solution

9. Find each of the following products :

(:132 — yz) X (z + 2y)

° Watch Video Solution

10. Find each of the following products :

(3p2 T q2) % (2p2 . 3q2)

° Watch Video Solution



https://dl.doubtnut.com/l/_3xjstdxuDNE8
https://dl.doubtnut.com/l/_UaUlI4ddeDZT
https://dl.doubtnut.com/l/_xYS9E8VQlCxO

11. Find each of the following products :

(2:132 — 5y2) X (:L'2 + 3y2)

° Watch Video Solution

12. Find each of the following products :

(w3 _ y3) % (:1:2 1 y2)

° Watch Video Solution

13. Find each of the following products :

(£E4 -|—y4) % (332 o y2)

° Watch Video Solution



https://dl.doubtnut.com/l/_rdW5u8AfIiOr
https://dl.doubtnut.com/l/_fRLphpRJAgwU
https://dl.doubtnut.com/l/_Pb9txcWDWgGf

L1 1
B 2o+ — | X |2+ —
x4 x

° Watch Video Solution

15. Find each of the following products :

(2> — 3z +7) x (2z + 3)

° Watch Video Solution

16. Find each of the following products :

(3z% + 5z — 9) x (3z — 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_7lfFlcX954mE
https://dl.doubtnut.com/l/_nN8SObm6Mb88
https://dl.doubtnut.com/l/_jydjAB5fRpzU

17. Find each of the following products :

(2 —zy+¢°) x (z +y)

° Watch Video Solution

18. Find each of the following products :

(2 +zy+¢°) x (z —y)

° Watch Video Solution

19. Find each of the following products :

(z° — 22% + 5) x (4 — 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_b0Tol8XV8yhM
https://dl.doubtnut.com/l/_LThbYOzoipiV
https://dl.doubtnut.com/l/_v45mvcC6qvHK

20. Find each of the following products :

(9:132 —x + 15) X (:):2 — 3)

° Watch Video Solution

21. Find each of the following products :

(w2—533—|—8) ><(a:2—|—2)

° Watch Video Solution

22.Find each of the following products :

(z° — 5z% + 3z + 1) x (2* — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_1awXREaeyLiV
https://dl.doubtnut.com/l/_mLiFlngQoomv
https://dl.doubtnut.com/l/_Lyho8c2BuLiT

23.Find each of the following products :

Bz +2y—4) X (z —y+2)

° Watch Video Solution

24.Find each of the following products :

(:L'2—533—|—8) ><(:132—|—2a:—3)

° Watch Video Solution

25.Find each of the following products :

(2:132 + 3x — 7) X (3:132 — b —|—4)

° Watch Video Solution



https://dl.doubtnut.com/l/_6GSJmEShfTFA
https://dl.doubtnut.com/l/_C027agCkGCI1
https://dl.doubtnut.com/l/_fV3SgWMLdQRH

26. Find each of the following products :

(9:132—:):—|—15) x(mz—w—l)

o Watch Video Solution

1. Divide:
(i) 24:132y3 by 3xy (ii) 36:1:yz2 by -9xz

(iii) — 72x2y2z by - 12 xyz (iv) — 56mnp2 by 7 mnp

o Watch Video Solution

2. Divide:

(i) 5m? — 30m? + 45m by 5m (ii) 8:1c2y2 — bzy + 10w2y3 by 2xy


https://dl.doubtnut.com/l/_gYk0f6kKJOP8
https://dl.doubtnut.com/l/_2eNdTIqLJeL7
https://dl.doubtnut.com/l/_J7D4CRTw8TPY

(iii) 9z%y — 6zy + 12zy* by - 3xy (iv) 12z* + 8z* — 622 by

— 272

o Watch Video Solution

3. Write the quotient and remainder when we divide :

(z° — 4z + 4) by (x-2)

o Watch Video Solution

4. Write the quotient and remainder when we divide :

(z® — 4) by (x+2)

o Watch Video Solution



https://dl.doubtnut.com/l/_J7D4CRTw8TPY
https://dl.doubtnut.com/l/_JZXnt5WxSFXo
https://dl.doubtnut.com/l/_Gu12spyUPkg1

5. Write the quotient and remainder when we divide :

(z® + 12z + 35) by (x +7)

o Watch Video Solution

6. Write the quotient and remainder when we divide :

(15332 +x — 6) by (3x + 2)

o Watch Video Solution

7. Write the quotient and remainder when we divide :

(14z* — 53z + 45) by (7x - 9)

o Watch Video Solution



https://dl.doubtnut.com/l/_vFPJCw6s03I2
https://dl.doubtnut.com/l/_vchlu4yYDz3L
https://dl.doubtnut.com/l/_XM1HzgDfddW3

8. Write the quotient and remainder when we divide :

(6z* — 31z + 47) by (2x - 5)

o Watch Video Solution

9. Write the quotient and remainder when we divide :

(2:133 + 2% — 5x — 2) by (2x + 3)

o Watch Video Solution

10. Write the quotient and remainder when we divide :

(z° + 1) by (x+1)

o Watch Video Solution



https://dl.doubtnut.com/l/_poc88Jueafms
https://dl.doubtnut.com/l/_9IbQN8O6akah
https://dl.doubtnut.com/l/_P55q6JAQvV8R

11. Write the quotient and remainder when we divide :

(:1:4—23:3+2:132—|—:13—|—4) by(a:2—|—:1c—|—1)

o Watch Video Solution

12. Write the quotient and remainder when we divide :

(z* — 62% + 11z — 6) by (z* — 5z + 6)

o Watch Video Solution

13. Write the quotient and remainder when we divide :

(5z® — 122* + 12z + 13) by (z* — 3z + 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_LWx63TXkbFcj
https://dl.doubtnut.com/l/_MuMx2WZjOGJf
https://dl.doubtnut.com/l/_zDVWjkTfLUzU

14. Write the quotient and remainder when we divide :

(2:133 — 5z% 4 8z — 5) by (2:):2 — 3z + 5)

o Watch Video Solution

15. Write the quotient and remainder when we divide :

(8z* + 102® — 5z% — 4z + 1) by (2z* + = — 1)

o Watch Video Solution

1. Find each of the following products:

i) (z+6)(z+6) (i) (4o +5y)(dz +5y) (i)

(7Ta + 9b)(7a + 9b)



https://dl.doubtnut.com/l/_0Q01HrwXTNIr
https://dl.doubtnut.com/l/_oLF6HfRNqjC1
https://dl.doubtnut.com/l/_BsauX5KHVHO6

3 5 3 5
5 2 ) 2

o Watch Video Solution

2 2
(iv) (—w + éy) (—x + éy) W) (#*+7)(z*+7) (i)

2. Find each of the following products:

i) (z—49(@=-4 () (2z-3y)(2z—3y) (i)
(229 (3-5)
(iv) (x—z)(w—g) < T —9>(%w2—9> (vi)
(-39 339

° Watch Video Solution

3.()64a2+9b2+48ab(i))49x2+4y2+28xy(iii))25x2+

1MOx+121(iv)a24+4a2+2(vV)9x216+4y281+13xy(vi)


https://dl.doubtnut.com/l/_BsauX5KHVHO6
https://dl.doubtnut.com/l/_RW85lAks9gI0
https://dl.doubtnut.com/l/_A8fFtXYcT3zx

81x2-180x+ 100 (vii)x4y2+y2z4-2x2y2z2(viii)x2y?2

+y2x2-2(x)9m2+1625n2-245mn

° Watch Video Solution

4. Find each of the following products:
(i) (z + 3)(x — 3) (ii) (2= + 5)(2z — 5) (ii) (8 + =)(8 — x)
(iv) (Tz + 11y)(7z — 11y) (v) (5332 + %y2> (5:1:2 — %ﬁ) (vi)

dr Sy \[4x Y
(5-3)(F %)

0 (e3)(2) o (545)(E5) o
(vii) T+ —||lxz— — (viii) —+ =) — - - (ix)

x x T oy r oy

(45) (= 5)

Y AR

o Watch Video Solution

5. Using the formula for squaring a binomial, evaluate the

following:


https://dl.doubtnut.com/l/_A8fFtXYcT3zx
https://dl.doubtnut.com/l/_B3GFxKTYMaYJ
https://dl.doubtnut.com/l/_JwkEbMFTH4ch

(i) (54)7 (i) (82)* (iii) (103)? (iv) (704)*

o Watch Video Solution

6. Using the formula for squaring a binomial evaluate the
following:

(i) (69) (ii) (78)7 (iii) (197) (iv) (999)*

o Watch Video Solution

7. Find the value of:

(i) (82)% — (18) (ii) (128)® — (72)? (iii) 197 x 203

) 198 x 198 — 102 x 102 )
(iv) 96 (v) (14.7 x 15.3) (vi)

(8.63)* — (1.37)*

o Watch Video Solution



https://dl.doubtnut.com/l/_JwkEbMFTH4ch
https://dl.doubtnut.com/l/_r1M44hhb2ekp
https://dl.doubtnut.com/l/_EXSPESYjwFkL
https://dl.doubtnut.com/l/_5Kt6oR8IsQ0U

8. Find the value of the expression (9:1:2 + 24z + 16), when x =

12

o Watch Video Solution

9. find the value of the expression (64:132 + 81y® + 144J:y) when

4
x=1land y = 3

o Watch Video Solution

10. Find the value of the expression (36332 + 25y% — 60:1:y),

henz = - andy —
Wenw—gan y—g

o Watch Video Solution



https://dl.doubtnut.com/l/_5Kt6oR8IsQ0U
https://dl.doubtnut.com/l/_v4OdN1T5TP32
https://dl.doubtnut.com/l/_9KBsJMCWYfRp

1
1. Ifa:—f———4 Find (i) 22 —|— (||):c

1
_|__

° Watch Video Solution

1
12.If (w — —) — 5, find the value of (
T
A. 34
B.42

C. 27

D.63

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4Vth0WIU4LT9
https://dl.doubtnut.com/l/_PLIBGMZ1QYJl

13.Find the continued product:

(i) (z + 1)(z — 1) (z* + 1)

(ii) (z — 3)(z + 3)(z* + 9)

(iii) (3z — 2y)(3z + 2y) (92 + 49°)

(iv) (2p + 3)(2p — 3) (4p” + 9)

° Watch Video Solution

14.Ifz + y = 12 and zy = 14 find the values of 2% + 2.

o Watch Video Solution

15.Ifx —y = Tand zy = 9, find the value of 2% + 3

A. 67


https://dl.doubtnut.com/l/_aoHAo3lHbl4o
https://dl.doubtnut.com/l/_4HcuYylBCAx3
https://dl.doubtnut.com/l/_DNq8SRwMz310

B.57

C.47

D. 37

Answer: A

o Watch Video Solution

Exercise 6 E Tick The Correct Answer In Each Of The Following

1. The sum of
(6a+4b—c+3),(2b —3c+4),(11b — 7Ta + 2c — 1) and
(2¢ — ba — 6) is

A. (4a — 6b + 2)

B.(-3a+ 14b -3c + 2)


https://dl.doubtnut.com/l/_DNq8SRwMz310
https://dl.doubtnut.com/l/_1zYNTSm5ixIY

C.( — 6a + 17b)

D.( — 6a + 6b+ c — 4)

Answer: C

° Watch Video Solution

2.(3q—|—7p2—2r3—|—4) — (4p2—2q—|—7r3—3) =7

A (p2 + 2g + 5r° + 1)
B. (11p* 4+ ¢ + 57° + 1)
C.(—3p2—5q+9r3—7)

D. (3p2 + 5q — 9r3 + 7)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1zYNTSm5ixIY
https://dl.doubtnut.com/l/_t65epPN9e1b9

3.(x+5)(x-3)="?

A z?+ 5z —15

B.z2 — 3z — 15

C.z’>+2z+15

D.z2 + 2z — 15

Answer: D

° Watch Video Solution

4.(2x +3)(3x-1)=7?

A. (62 + 8z — 3)

B. (6:1:2 + Tx — 3)


https://dl.doubtnut.com/l/_t65epPN9e1b9
https://dl.doubtnut.com/l/_FHOozy0xQ8vM
https://dl.doubtnut.com/l/_srHQEruJkRah

C. (6:132 — Tz — 3

D. (6:132 —Tr + 3)

Answer: B

° Watch Video Solution

5.(x+4)(x+4)="?

A. (z* + 16)
B. (2 + 4z + 16)
C. (:cz + 8z + 16)

D. (:132 + 16:1:)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_srHQEruJkRah
https://dl.doubtnut.com/l/_qiL9apKWzDtr

6.(x-6)(x-6)=7
A (z* — 36)
B. (:132 + 36)
C. (z* — 6z + 36)

D. (z* — 12z + 36)

Answer: D

° Watch Video Solution

7.(2¢ +5)(2z — 5) = 7

A. (42° + 25)

B. (42 — 25)


https://dl.doubtnut.com/l/_qiL9apKWzDtr
https://dl.doubtnut.com/l/_7C81SH86plDp
https://dl.doubtnut.com/l/_rBqiMZkyCIGK

C. (4z® — 10z + 25)

D. (4z® 4 10z — 25)

Answer: B

° Watch Video Solution

8 8a%b?
" —2ab

A. 4ab?

B. 4a’b

C. —4ab’

D. —4a’b

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rBqiMZkyCIGK
https://dl.doubtnut.com/l/_xxZj9b770nfc

9.2z +3z+1)/(z+1) = ?

A (x+1)
B.(2x+ 1)
C.(x+3)

D. (2x + 3)

Answer: B

o Watch Video Solution

10.(z> — 4z +4) /(z —2) = ?

A (x-2)

B.(x+ 2)


https://dl.doubtnut.com/l/_xxZj9b770nfc
https://dl.doubtnut.com/l/_pNuHCTu1TyU1
https://dl.doubtnut.com/l/_AVWjR7jab6Yx

C.(2-x)

D.(2—i—3:—|—a:2)

Answer: A

o Watch Video Solution

M(a+1)(a—1)(a®+1) =7

A (a* —2a® — 1)

B. (a4 —a?® - 1)

C. (a4 — 1)
D. (a4 + 1)
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AVWjR7jab6Yx
https://dl.doubtnut.com/l/_6GK0aCallk1Y

Answer: A

o Watch Video Solution

1 5 1
B.Uflx—— ) =5then 2+ — | =7
T ;132

A. 25

B. 27


https://dl.doubtnut.com/l/_6GK0aCallk1Y
https://dl.doubtnut.com/l/_bm195G9I5oSm
https://dl.doubtnut.com/l/_fa8qRvdEblUA

C.23

D251
25

Answer: C

o Watch Video Solution

1 9 1
14.If |t —— ) =6then|[z°“+ — | =7
X ;1;2

A. 36
B. 38
C.32

D. 36—
T

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fa8qRvdEblUA
https://dl.doubtnut.com/l/_Hjdn8KwvpTff

15. Simplify the  following using the formula:
(a —b)(a +b) = a® — b*: (82)% — (18)” (ii) (467)* — (33)°

A. 8218

B. 6418

C. 6400

D. 7204

Answer: C

o Watch Video Solution

16. (197 x 203) = ?

A. 39991


https://dl.doubtnut.com/l/_Hjdn8KwvpTff
https://dl.doubtnut.com/l/_FvxvZv9jUR97
https://dl.doubtnut.com/l/_Vrhw9zjEZxkC

B. 39999

C. 40009

D. 40001

Answer: A

° Watch Video Solution

17.1f (a + b) =12 and ab = 14, then (a® + %) = ?

A.172
B. 116
C.162

D. 126

Answer: B



https://dl.doubtnut.com/l/_Vrhw9zjEZxkC
https://dl.doubtnut.com/l/_PE3iJzTbUnnQ

o Watch Video Solution

18.1f (a-b) =7 and ab =9, then (a2 + b2) =7

A. 67
B. 31
C.40

D. 58

Answer: A

o Watch Video Solution

19. If x =10, then the value of (4:1:2 + 202 + 25) =7

A. 256


https://dl.doubtnut.com/l/_PE3iJzTbUnnQ
https://dl.doubtnut.com/l/_IkKNet8UvzM3
https://dl.doubtnut.com/l/_1GWFh32gI00i

B.425

C. 625

D. 575

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1GWFh32gI00i

